
Fourier Analysis 04 -27

Review
.

Thm ( Poisson summation's formula )

suppose f , FEMUR) .

Then
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In particular
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Example 1 .
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Heat kernel on the real line

.

Notice that
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-4*75

Applying Poisson summation formula gives
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Htlx) - heat kernel on

the unit circle
.

Letting x=o gives
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Proper bet ft MURI . Suppose I is supported
on I = FI , II

,
i.e . €3 )=o for all { EIRII .

Then
.
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; more precisely
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Pf . Notice that FEMUR ) .

Write g -- I . G is supported on EE
,
II

.

So for XE Et , It ,
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Hence using Poisson summation formula, we have
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From the above equation , using Parsewd identity
we get
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Next we prove ① .

Recall
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Now Using Fourier inversion formula,
For all x EIR

,
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